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Read the following instructions carefully before you begin to answer the questions.

Instructions to the candidates
1. Before you start to answer the questions you must check this

booklet and ensure that it contains all the pages (32) and see that
no page or portion thereof is missing or repeated. Candidates are
also required to check that they have got the right question booklet
strictly for the post candidate has applied for and printed on the
Admit Card. If you find any defect in this Booklet, you must get it
replaced immediately.

2. OMR Answer-Sheet is within the Question booklet. Please ensure
OMR Answer-Sheet number and Test Booklet No. of Question
Paper are same. Read the instructions printed on OMR Answer
sheet carefully before filling the information on the OMR Answer-
Sheet. You must complete and code all the details on the OMR
answer sheet correctly failing which your answer sheet may
not be evaluated. You must also put your signature on the OMR
Answer-Sheet at the prescribed place before you actually start
answering the questions. These instructions must be fully
complied with, failing which, your OMR Answer-Sheet may not
be evaluated.

3. The OMR answer sheet will be in triplicate (Original and two
carbon copies). Candidate has to take one carbon copy (marked as
‘candidate copy’) with him/her after examination and handover the
original OMR along with one carbon copy to invigilator. If candidate
fails to handover the original OMR along with one carbon copy to
invigilator, his/her candidature will be cancelled. Further, if the
candidate tampers with candidate OMR carbon copy and claims
for same, in that case also his/her candidature will be cancelled.

4. This booklet consists of 100 multiple choice questions. Each
question has 4 (four) alternatives (a), (b), (c), and (d). In any case
only one alternative will be the correct answer. In case if you find
more than one correct answer, then choose the most appropriate
single option and darken the appropriate circle in the answer
sheet in front of the related question.

5. For each correct answer One mark will be given and for each
incorrect answer 0·25 marks will be deducted.

6. Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any
question if more than one circle is darkened, machine will allot
zero mark for that question.

7. Do not fold OMR Answer-Sheet in any case.
8. No rough work is to be done on the Answer-Sheet. Space for rough

work has been provided in this booklet.
9. Mobile phones and wireless communication devices are completely

banned in the examination hall/rooms. Candidates are advised
not to keep mobile phones/any other wireless communication
devices with them even switching it off, in their own interest.
Failing to comply with this provision will be considered as using
unfair means in the examination and action will be taken against
them including cancellation of their candidature.

10. Candidate should not leave the examination hall/room without
handing over his/her Answer sheet to the invigilator and
without signing on the attendance sheet at proper place against
your roll number, further candidate should also ensure that
booklet no., booklet series and OMR answer sheet no. are correctly
written on attendance sheet before signing on it, failing in
doing so, may lead to disqualification/ no evaluation of OMR
Answer-Sheet.

11. In case of any discrepancy found in Hindi language, English version
will be treated as final.

Cå‘rXdmam| Ho$ {bE AZwXoe
1. àým| Ho$ CÎma {bIZm Ama§^ H$aZo go nhbo Amn Bg nwpñVH$m H$s Om±M H$aHo$ gw{Z{üV H$a

b| {H$ Bg‘| nyao n¥ð> (32) h¢ VWm H$moB© n¥ð> ¶m CgH$m ^mJ H$‘ ¶m Xþ~mam Vmo Zht Am J¶m
h¡& Cå‘rXdmam| H$mo ¶h ^r Om§°M H$aZr h¡ {H$ CZH$mo ghr narjm-nwpñVH$m {‘br h¡ {OgHo$
{bE CÝhm|Zo AmdoXZ {H$¶m h¡ Am¡a Omo CZHo$ Admit Card ‘| N>nm h¡& ¶{X Amn Bg
nwpñVH$m ‘| H$moB© Ìw{Q> nmE±>, Vmo VËH$mb BgHo$ ~Xbo Xÿgar nwpñVH$m b|&

2. AmooE‘oAmao CÎma erQ>> àý-nwpñVH$m ‘| hr CnbãY ahoJr& H¥$n¶m gw{Z{üV H$a| {H$ AmooE‘oAmao
CÎma erQ> g§»¶m Am¡a narjU nwpñVH$m g§»¶m g‘mZ h¢& AmooE‘oAmao CÎma erQ>> na OmZH$mar ̂ aZo
go nhbo AmooE‘oAmao CÎma erQ> na N>no {ZX}em| H$mo Ü¶mZ go n‹T>|& AmnH$mo AmooE‘oAmao CÎma erQ>
na g^r {ddaUm| H$mo ghr T>§J go nyam Am¡a H$moS> H$aZm hmoJm& Eogm Z H$aZo na AmnH$s CÎma erQ> H$m
‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡& àým| H$m CÎma XoZm ewê$ H$aZo go nhbo AmnH$mo AmooE‘oAmao CÎma
erQ> na {X¶o JE {ZYm©[aV ñWmZ na AnZm hñVmja H$aZm hmoJm& BZ {ZX}em| H$m nyU© ê$n go nmbZ
{H$¶m OmZm Mm{hE& Eogm Z H$aZo  na AmnH$s AmooE‘oAmao CÎma erQ> H$m ‘yë¶m§H$Z Zht {H$¶m Om
gH$Vm&

3. AmooE‘oAmao CÎma erQ>> VrZ à{V¶m| ‘| hm|Jr (‘yb VWm H$m~©Z H$s Xmo à{V{b{n¶m±)& narjm
g‘m{á Ho$ ~mX AmooE‘oAmao CÎma> erQ H$s ‘yb erQ> VWm EH$ H$m~©Z à{V{b{n {ZarjH$
H$mo gm¢nZo Ho$ nümV² Cå‘rXdma AnZo gmW EH$ H$m~©Z à{V{b{n (Aä¶Wu à{V Ho$ ê$n ‘|
{M{•V {H$¶m J¶m) bo Om gH$Vo/gH$Vr h¢& ¶{X H$moB© ^r Cå‘rXdma Eogm H$aZo ‘| Ag’$b
ahVm/ahVr h¡, Vmo CgH$s Cå‘rXdmar aÔ H$a Xr Om¶oJr& ¶{X H$moB© Cå‘rXdma AnZr H$m~©Z
à{V{b{n ‘| {H$gr ̂ r àH$ma H$m ’o$a-~Xb H$a CgH$m Xmdm H$aVm/H$aVr h¡, Vmo Bg pñW{V
‘| ^r CgH$m/CgH$s Cå‘rXdmar aÔ H$s Om¶oJr&

4. Bg àý-nwpñVH$m ‘| 100 ~hþ{dH$ënr¶ àý h¢& àË¶oH$ àý Ho$ 4 (Mma) {dH$ën {XE JE
h¢, (a), (b), (c) Am¡a (d)& {H$gr ^r pñW{V ‘| àË¶oH$ àý H$m Ho$db EH$ {dH$ën hr
ghr CÎma h¡& ¶{X AmnH$mo EH$ go A{YH$ {dH$ën ghr bJo, Vmo g~go A{YH$ C{MV EH$
{dH$ën H$m MwZmd H$a| Am¡a CÎma-nwpñVH$m> ‘| g§~§{YV àý Ho$ gm‘Zo dmbo Cn¶wº$ Jmobo H$mo
H$mbm H$a|&

5. àË¶oH$ ghr CÎma Ho$ {bE 1 A§H$ {X¶m OmEJm Am¡a àË¶oH$ JbV CÎma Ho$ {bE 0·25 A§H$
H$mQ> {b¶m OmEJm&

6. Jmobo H$mo H$mbm H$aZo Ho$ {bE Ho$db H$mbo/Zrbo ~m°b ßdmB§Q> noZ H$m à¶moJ H$a|& Jmobo H$mo
EH$ ~ma H$mbm H$aZo Ho$ ~mX BgH$mo {‘Q>mZo ¶m ~XbZo H$s AZw‘{V Zht h¡& ¶{X {H$gr àý
Ho$ gm‘Zo EH$ go Á¶mXm Jmobo H$mbo {H$¶o JE hm|, Vmo ‘erZ Ûmam CgHo$ {bE eyÝ¶ A§H$ {X¶m
OmEJm&

7. {H$gr ^r pñW{V ‘| AmooE‘oAmao CÎma erQ> H$mo Z ‘mo‹S>|&

8. CÎma erQ> na H$moB© ̂ r aµ’$ H$m¶© Zht H$aZm h¡& aµ’$ H$m¶© Ho$ {bE Bg nwpñVH$m ‘| ñWmZ {X¶m
J¶m h¡&

9. narjm hm°b/H$‘amo§ ‘| ‘mo~mBb µ’$moZ VWm ~oVma g§Mma gmYZ nyar Vah {Z{fÕ h¡& Cå‘rXdmam|
H$mo CZHo$ AnZo {hV ‘| gbmh Xr OmVr h¡ {H$ ‘mo~mBb µ’$moZ/{H$gr AÝ¶ ~oVma g§Mma gmYZ
H$mo pñdM Am°’$ H$aHo$ ̂ r AnZo nmg Z aI|& Bg àmdYmZ H$m AZwnmbZ Z H$aZo H$mo narjm
‘| AZw{MV Cnm¶m| H$m à¶moJ ‘mZm Om¶oJm Am¡a CZHo$ {déÕ H$m¶©dmhr H$s OmEJr, {Og‘|
CZH$s Cå‘rXdmar aÔ H$aZm ^r em{‘b h¡&

10. Aä¶Wu AnZr CÎma erQ> n¶©dojH$ H$mo gm¢no {~Zm Am¡a AnZo amob Z§~a Ho$ gm‘Zo C{MV ñWmZ na
CnpñW{V nÌH$ na hñVmja {H$E {~Zm narjm hm°b/H$j go ~mha Zht Om gH$Vm& BgHo$ Abmdm
Aä¶Wu H$mo CnpñW{V nÌH$ na hñVmja H$aZo go nhbo ¶h ̂ r gw{Z{üV H$aZm Mm{hE {H$ ~wH$boQ>
Z§~a, ~wH$boQ> grarO Am¡a AmooE‘oAmao  CÎma erQ> g§»¶m ghr T>§J go {bIr JB© hmo& Eogm Z H$aZo
na, AmooE‘oAmao CÎma erQ> H$mo A‘mÝ¶ ‘mZm OmEJm/‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡&

11. qhXr ̂ mfm ‘| {H$gr ̂ r AñdrH¥${V Ho$ ‘m‘bo ‘|, A§{V‘ ê$n go A§J«oOr g§ñH$aU ‘mÝ¶ hmoJm&
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Directions (1-5) : Fill in the blanks
with appropriate words :

Now-a-days, under the ...(1)... system
of education, however good it may be,
when a young man comes out of the
university, there seems to be this
...(2)... in him that the higher the
standard of living raises, the less
should a man work. Thus,
mathematically, the higher the
standard of living, according to this
misconceived notion, the less the
...(3)... Ultimately, what should be the
highest standard of living then? ...(4)...
work! This leads to an unhealthy
...(5)...among the workers.

1. (a) outdated
(b) proposed
(c) modern
(d) developed

2. (a) anxiety
(b) misconception
(c) realisation
(d) worry

3. (a) salary
(b) comfort
(c) work
(d) energy

4. (a) minimum
(b) maximum
(c) less
(d) no

5. (a) dispute
(b) delay
(c) competition
(d) ambition

6. In the given sentence identify
which part of the sentence
contains error and mark it as your
answer.

The badminton / are a / game of
/ endurance and stamina.

(a) the badminton

(b) are a

(c) game of

(d) endurance and stamina

7. Mark the correct meaning of the
following idiom/phrase :

‘Fair and Square’ means

(a) successful

(b) honest

(c) straightforwardly

(d) worthy

8. Choose from the alternatives a
word which is nearest in meaning
(Synonym) to the given word.

FIASCO

(a) Strength

(b) Success

(c) Failure

(d) Hope

9. Choose the word opposite in
meaning (Antonym) to the given
word.

NEFARIOUS

(a) Wicked

(b) Evil

(c) Benign

(d) Diverge
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10. Find out the correct spelling.

(a) Quintesence

(b) Quintessence

(c) Quentesence

(d) Quintisence

11. Choose the most appropriate one-
word substitute for the
expression given below.

‘An office with good salary but
no work’

(a) Gratis

(b) Honorary

(c) Discretionary

(d) Sinecure

12. Rearrange the parts of the
sentence in correct order.

P. reports that toy shops and
other

Q. to prepare for the Christmas
rush

R. non-food retailers are
struggling to

S. get enough stock into their
warehouses

(a) RPSQ

(b) PRSQ

(c) SQRP

(d) QRPS

13. Match the underlined idiom/
phrase with the most suitable
meaning.

Citizens now wonder whether
they just pay lip service or
genuinely subscribe to
democracy.

(a) pay oral tribute

(b) attach no value

(c) remain indifferent

(d) show only outward respect

14. Fill in the blank with appropriate
article from the given
alternatives.

The school team played _____
badminton match to the best of
their ability.

(a) no article

(b) a

(c) an

(d) the

15. Four alternatives (a), (b), (c) and
(d) are given under the sentence,
you are required to select the
most suitable alternative to fill in
the blank in the sentence to
make it meaningful.

Every adult should cast his vote
at least once or else he will have
to _____ his right.

(a) penalty

(b) cancellation 

(c) forfeit

(d) loss
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16. {XE JE àý H$m CÎma XoZo Ho$ {bE {ZåZ{b{IV
OmZH$mar n‹T>| …

A, B, C, D, E Am¡a F EH$ n§p³V ‘| ~¡R>o h¢&
E Am¡a F Ho$ÝÐ ‘| h¢, A Am¡a B N>moa na h¢&
C, A Ho$ ~mBª Amoa ~¡R>m h¡&
D Ho$ XmBª Amoa Vrgao ñWmZ na H$m¡Z ~¡R>m h¡?
(a) B
(b) C
(c) A

(d) D

17. Xr JB© l¥§Ibm H$mo nyam H$a| …

5, 15, 45, 225, ?
(a) 1024
(b) 1125
(c) 1500

(d) 2250

18. EH$ Vñdra H$s Amoa Bemam H$aVo hþE AmX‘r Zo
H$hm, “Vñdra ‘| {XI ahr ‘{hbm ‘oao ^VrOo H$s
ZmZr h¡”& Vñdra ‘| {XI ahr ‘{hbm Cg AmX‘r
H$s ~hZ go {H$g Vah g§~§{YV h¡ {OgH$s H$moB© Am¡a
~hZ Zht h¡?

(a) MMoar ~hZ

(b) ‘m±

(c) ^m^r

(d) gmg

19. 24 K§Q>o ‘| K‹S>r H$s gwB¶m§ {H$VZr ~ma g‘H$moU na
hmoVr h¢?
(a) 22
(b) 44
(c) 24

(d) 48

16. Read the following information
to answer the given question.

A, B, C, D, E and F are sitting in
a row.

E and F are in the center, A and
B are at the ends.

C is sitting on the left of A.

Who is sitting on the third place
to the right of D?
(a) B
(b) C
(c) A
(d) D

17. Complete the given series :
5, 15, 45, 225, ?
(a) 1024
(b) 1125
(c) 1500
(d) 2250

18. Pointing to a photograph the man
said, “The lady in the photograph
is my nephew’s maternal
grandmother.” How is the lady
in the photograph related to the
man’s sister who has no other
sister?
(a) Cousin
(b) Mother
(c) Sister-in-law
(d) Mother-in-law

19. How many times are the hands
of a clock at right angles in 24
hours?
(a) 22
(b) 44
(c) 24
(d) 48
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20. {XE JE àý ‘|, VrZ H$WZm| Ho$ ~mX VrZ {ZîH$f©
{XE JE h¢& AmnH$mo H$WZm| H$mo gË¶ ‘mZZm hmoJm,
^bo hr do gm‘mÝ¶V… kmV VÏ¶m| go {^Þ àVrV hm|&
g^r {ZîH$fm] H$mo n‹T>| Am¡a {’$a V¶ H$a| {H$ {XE JE
{ZîH$fm] ‘| go H$m¡Z-gm, gm‘Ý¶V… kmV VÏ¶m| Ho$
~mdOyX, H$WZ H$m Vm{H©$H$ ê$n go AZwgaU H$aVm
h¡ …

H$WZ …

I. g^r M‘JmX‹S> eoa h¢&

II. H$moB© Jm¶ eoa Zht h¡&

III. Hw$N> D±$Q> Jm¶ h¢&

{ZîH$f© …
I. Hw$N> eoa D±$Q> h¢&

II. H$moB© D±$Q> M‘JmX‹S> Zht h¡&

III. Hw$N> M‘JmX‹S> Jm¶ h¢&

(a) Ho$db I AZwgaU H$aVm h¡

(b) Ho$db II AZwgaU H$aVm h¡

(c) Ho$db III AZwgaU H$aVm h¡

(d) Cnamooº$ ‘| go H$moB© Zht

21. {ZåZ{b{IV OmZH$mar H$mo Ü¶mZnyd©H$ n‹T>| Am¡a
ZrMo {XE JE àým| Ho$ CÎma X|&

1. P × Q H$m AW© h¡ P, Q H$m {nVm h¡

2. P – Q H$m AW© h¡ P, Q H$s ~hZ h¡

3. P + Q H$m AW© h¡ P, Q H$s ‘m± h¡

4. P ÷ Q H$m AW© h¡ P, Q H$m ^mB© h¡

{ZåZ{b{IV ‘| go H$m¡Z-gm ‘R, M H$s ^VrOr’
h¡, H$mo Xem©Vm h¡?
(a) M – J + R – N
(b) R – M × T – W
(c) M – K × T – R

(d) Cnamoº$ ‘| go H$moB© Zht

20. In the given question, three
Statements are followed by three
conclusions. You have to take the
statements to be true even if they
seem to be at variance from
commonly known facts. Read all
the conclusions and then decide
which of the given conculsions
logically follow from the
statement, irrespective of
commonly known facts :
Statements :
I. All bats are lions.
II. No cow is lion.
III. Some camels are cows.
Conclusion :
I. Some lions are camels.
II. No camel is bat.
III. Some bats are cows.
(a) Only I follows
(b) Only II follows
(c) Only III follows
(d) None of the above

21. Read the following information
carefully and answer the
questions below.
1. P × Q means P is the father

of Q
2. P – Q means P is the sister

of Q
3. P + Q means P is the mother

of Q
4. P ÷ Q means P is the brother

of Q
Which of the following represents
‘R is the niece of M’?
(a) M – J + R – N
(b) R – M × T – W
(c) M – K × T – R
(d) None of the above
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22. Zm°H$ AmCQ> Qy>Zm©‘|Q> ‘| 64 {Ibm‹S>r h¢ Am¡a ha
{Ibm‹S>r H$mo 1 go 64 VH$ a¢H$ (dar¶Vm) Xr OmVr
h¡& ‘¡M Bg Vah go Iobo OmVo h¢ {H$ nhbo amC§S> ‘|
nhbm dar¶ {Ibm‹S>r 64d|, Xÿgam dar¶ {Ibm‹S>r
63d| go { ‹̂S>oJm Am¡a Bgr Vah AmJo ^r Iob
MboJm&

OrVZo dmbo {Ibm‹S>r AJbo amC§S> ‘| Mbo OmVo h¢
O~{H$ AÝ¶ à{V¶mo{JVm go ~mha hmo OmVo h¢& Xÿgao
amC§S> ‘|, ‘¡M 1 H$m {dOoVm A§{V‘ ‘¡M Ho$ {dOoVm
({OgH$s dar¶Vm 32 Am¡a 33 Ho$ ~rM Wr) go
IoboJm Amoa ‘¡M 2 H$m {dOoVm amC§S> 1 ‘| Xÿgao
Am{Iar ‘¡M Ho$ {dOoVm go { ‹̂S>oJm Am¡a Bgr Vah
AmJo ^r Iob MboJm& Bg àH$ma, g^r amC§S> Ho$
~mX {dOoVm Kmo{fV {H$¶m OmVm h¡&

32 {Ibm{‹S>¶m| dmbo Qy>Zm©‘|Q> Ho$ amC§S> 1 ‘| H$m¡Z go
dar¶Vm àmá {Ibm‹S>r ‘¡M Z§~a 7 Am¡a ‘¡M Z§~a
10 Iob|Jo?
(a) 26, 23
(b) 27, 24
(c) 28, 25
(d) 29, 26

23. {ZåZ{b{IV ‘| go H$m¡Z-gm Q́>¡Z{OeZ ’$sMa nmda
ßdmB§Q> ‘| CnbãY h¡?
(a) ’o$S>
(b) nwe
(c) a¢S>‘ ~ma
(d) Cnamoº$ g^r

24. {ZåZ{b{IV ‘| go H$m¡Z-gm ZoQ>dH©$ Q>monmobm°Or H$m
àH$ma Zht h¡?
(a) ‘oe
(b) ~g
(c) [a¨J
(d) ñQ>~

22. There are 64 players in a knock
out tournament and every player
is ranked (seeded) from 1–64. The
matches are played in such a
manner that in round one the
1st seeded player plays with the
64th, 2nd with the 63rd and so
on.
The players who win move on to
the next round whereas others
are out of the competition. In
second round, the winner of
match 1 will play winner of the
last match (which was between
seed 32 and seed 33), and
winner of match 2 will meet the
winner of second last match in
round 1 and so forth. Thus, after
all rounds winner is declared.
Which seeds will play Match no
7 and Match no 10 in Round 1
of a 32-player tournament?
(a) 26, 23
(b) 27, 24
(c) 28, 25
(d) 29, 26

23. Which of the following transition
features is/are available in
PowerPoint?
(a) Fade
(b) Push
(c) Random Bar
(d) All of the above

24. Which of the following is not a
type of the network topology?
(a) Mesh
(b) Bus
(c) Ring
(d) Stub
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25. LibreOffice Impress H$m µ’$mBb E³gQ>|eZ
³¶m h¡?

(a) .ott

(b) .odt

(c) .ods

(d) .odp

26. nmdanm°B§Q> ‘| Ctrl + E H$‘m§S> H$m Cn¶moJ {H$gHo$
{bE {H$¶m OmVm h¡?

(a) boâQ> EbmBZ‘|Q>

(b) amBQ> EbmBZ‘|Q>

(c) g|Q>a EbmBZ‘|Q>

(d) Cnamoº$ ‘| go H$moB© Zht

27. {ZåZ{b{IV ‘| go H$m¡Z-gm, E³gob ‘| d¡Y
bm°{OH$b ’$m°‘y©bm Zht h¡?

(a) AND

(b) IF

(c) FALSE

(d) NOR

28. noñQ> ñnoeb H$‘m§S> AmnH$mo _____ H$mo H$m°nr Am¡a
noñQ> H$aZo H$s gw{dYm XoVm h¡&

(a) µ’$m°‘}qQ>J {dH$ën

(b) dmñV{dH$ µ’$m°‘y©bo Ho$ ~Om¶ µ’$m°‘y©bo Ho$
n[aUm‘r ‘mZ

(c) H$m°nr {H$E JE ‘mZ go M¶Z H$mo JwUm H$a|

(d) gob {Q>ßn{U¶m±

25. What is the file extension of
LibreOffice Impress?

(a) .ott

(b) .odt

(c) .ods

(d) .odp

26. Ctrl + E command is used for
_______ in PowerPoint.

(a) left alignment

(b) right alignment

(c) center alignment

(d) None of the above

27. Which of the following is not a
valid logical formula in Excel?

(a) AND

(b) IF

(c) FALSE

(d) NOR

28. The Paste Special command lets
you copy and paste

(a) Formatting options

(b) the resulting values of a
formula instead of the actual
formula

(c) multiply the selection by a
copied value

(d) Cell comments
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29. EH$ dS>© Q>o~b ‘| amo Am¡a H$m°b‘ H$s Ý¶yZV‘ g§»¶m
{H$VZr hmo gH$Vr h¡?

(a) 1 amo Am¡a 1 H$m°b‘

(b) eyÝ¶

(c) 2 amo Am¡a 1 H$m°b‘

(d) 2 amo Am¡a 2 H$m°b‘

30. IMAP H$m AW© h¡

(a) Inter Mail Access Protocol

(b) Internet Message Access
Protocol

(c) Internet Mail Access Protocol

(d) Inter Message Access Protocol

31. H$åß¶yQ>a eãXmdbr ‘| bm°{JZ Zm‘ Am¡a nmgdS>© Ho$
gË¶mnZ Ho$ {bE {H$g eãX H$m Cn¶moJ {H$¶m
OmVm h¡?

(a) H$m°pÝµ’$JaoeZ

(b) Am°W|{Q>Ho$eZ

(c) E³go{g{~{bQ>r

(d) bm°qJJ

32. {ZåZ{b{IV eãXm| H$mo eãXH$moe ‘| H«$‘ Ho$ AZwgma
ì¶d{ñWV H$a| …

1. unknown 2. unkind
3. unlawful 4. unkempt
5. unlamented

(a) 4, 2, 1, 3, 5

(b) 4, 1, 2, 5, 3

(c) 4, 2, 1, 5, 3

(d) 4, 1, 2, 3, 5

29. What is the minimum number of
rows and columns that a word
table can have?

(a) 1 row and 1 column

(b) Zero

(c) 2 rows and 1 column

(d) 2 rows and 2 columns

30. IMAP stands for

(a) Inter Mail Access Protocol

(b) Internet Message Access
Protocol

(c) Internet Mail Access Protocol

(d) Inter Message Access Protocol

31. What is the term used for
verification of a login name and
password in computer
terminology?

(a) Configuration

(b) Authentication

(c) Accessibility

(d) Logging

32. Arrange the following words as
per order in the dictionary :

1. unknown 2. unkind
3. unlawful 4. unkempt
5. unlamented

(a) 4, 2, 1, 3, 5

(b) 4, 1, 2, 5, 3

(c) 4, 2, 1, 5, 3

(d) 4, 1, 2, 3, 5
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33. Ecology is related to environment
in the same way as Histology is
related to
(a) fossils
(b) history
(c) tissues
(d) hormones

34. Given question is followed by two
statements. Marks your answer as
(i) If the question can be

answered with the help of
statement I alone.

(ii) If the question can be
answered with the help of
statement II alone.

(iii) If both statement I and
statement II are needed to
answer the question.

(iv) If the question cannot be
answered even with the help
of both the statements.

What is the price of mangoes per
kg?
I. Ten kg of mangoes and two

dozens of oranges cost
< 252.

II. Two kg of mangoes could be
bought in exchange for one
dozen oranges.

(a) (i)
(b) (ii)
(c) (iii)
(d) (iv)

35. Vinita is taller than Romita but
shorter than Niyati. Soumya is
the shortest. Dipika is taller than
Soumya but shorter than Romita.
Who is the tallest?
(a) Niyati
(b) Romita
(c) Vinita
(d) Dipika

33. nm[a{ñW{VH$s, n¶m©daU go Cgr àH$ma g§~§{YV h¡,
O¡go D$VH$ {dkmZ, _____ go g§~§{YV h¡&

(a) Ordmí‘

(b) B{Vhmg

(c) D$VH$

(d) hm‘m}Z

34. ZrMo EH$ àíZ Am¡a CgHo$ ~mX Xmo H$WZ h¢ …
AnZo CÎma H$mo Bg ê$n ‘| {M{•V H$a|

(i) ¶{X àíZ H$m CÎma Ho$db H$WZ I H$s
ghm¶Vm go {X¶m Om gH$Vm h¡&

(ii) ¶{X àíZ H$m CÎma Ho$db H$WZ II H$s
ghm¶Vm go {X¶m Om gH$Vm h¡&

(iii) ¶{X àíZ H$m CÎma XoZo Ho$ {bE H$WZ I
Am¡a H$WZ II XmoZm| Amdí¶H$ h¢&

(iv) ¶{X àíZ H$m CÎma XmoZm| H$WZm| H$s ghm¶Vm
go ^r Zht {X¶m Om gH$Vm h¡&

Am‘ H$s à{V {H$bmo H$s‘V ³¶m h¡?
I. Xg {H$bmo Am‘ Am¡a Xmo XO©Z g§Vao H$s

H$s‘V < 252 h¡&
II. EH$ XO©Z g§Vao Ho$ ~Xbo Xmo {H$bmo Am‘

IarXo Om gH$Vo Wo&
(a) (i)
(b) (ii)
(c) (iii)
(d) (iv)

35. {dZrVm, amo{‘Vm go b§~r h¡ bo{H$Z {Z¶{V go N>moQ>r
h¡& gm¡å¶m g~go N>moQ>r h¡& Xr{nH$m, gm¡å¶m go b§~r
h¡ bo{H$Z amo{‘Vm go N>moQ>r h¡& g~go b§~r H$m¡Z h¡?

(a) {Z¶{V

(b) amo{‘Vm

(c) {dZrVm

(d) Xr{nH$m
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36. H$‘b Ho$ {nVm Á¶mo{V Ho$ BH$bm¡Vr ~hZ Ho$ OrOm
h¢& H$‘b H$m Á¶mo{V go ³¶m [aíVm h¡?

(a) ~oQ>m

(b) nmoVm

(c) {nVm

(d) MMoam ^mB©

37. 26 OZdar, 1949 H$mo H$m¡Z-gm {XZ Wm?

(a) ewH«$dma

(b) Jwédma

(c) e{Zdma

(d) ~wYdma

38. ZrMo Hw$N> g§»¶mAm| H$m g‘yh {X¶m J¶m h¡, ¶{X
àË¶oH$ g§»¶m ‘| nhbo Am¡a Vrgao A§H$ Ho$ ñWmZ H$mo
nañna ~Xb {X¶m OmE, Vmo {X¶o JE {dH$ënm| ‘|
go H$m¡Z-gm A§H$ Xÿgar g~go N>moQ>r g§»¶m H$m
Vrgam A§H$ hmoJm?

987, 514, 658, 487, 404, 269
(a) 8
(b) 9
(c) 2

(d) 4

39. g§»¶m 5109238674 ‘| nhbo Am¡a N>R>o A§H$
Ho$ ñWmZ Amng ‘| ~Xb {XE JE h¢& Bgr àH$ma
Xÿgao Am¡a gmVd| A§H$ Ho$ ñWmZ Amng ‘| ~Xb
{XE JE h¢ Am¡a AmJo ^r Bgr àH$ma& nwZì¶©dñWm
Ho$ ~mX {ZåZ{b{IV ‘| go H$m¡Z-gm A§H$ XmE± N>moa
go Vrgam A§H$ hmoJm?
(a) 9
(b) 0
(c) 6

(d) 3

36. Kamal’s father is the brother-in-
law of Jyoti’s only sister. How is
Kamal related to Jyoti?
(a) Son
(b) Grandson
(c) Father
(d) Cousin

37.  What was the day on 26th
January, 1949?
(a) Friday
(b) Thursday
(c) Saturday
(d) Wednesday

38. In the given series, if the positions
of the first and the third digit
within each number are
interchanged, which of the
following will be the third digit of
the second lowest number?

987, 514, 658, 487, 404, 269
(a) 8
(b) 9
(c) 2
(d) 4

39. The positions of the first and sixth
digits in the number
5109238674 are interchanged.
Similarly the positions of the
second and the seventh digits are
interchanged and so on. Which
of the following will be the third
digit from the right end after the
rearrangement?
(a) 9
(b) 0
(c) 6
(d) 3
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40. ‘{hH$m 20 ‘rQ>a CÎma H$s Amoa Mbr& {’$a dh
XmBª Amoa ‘w‹S>H$a 30 ‘rQ>a MbVr h¡& {’$a dh XmBª
Amoa ‘w‹S>Vr h¡ Am¡a 35 ‘rQ>a MbVr h¡& {’$a dh
~mBª Amoa ‘w‹S>Vr h¡ Am¡a 15 ‘rQ>a MbVr h¡& A§V
‘| dh ~mBª Amoa ‘w‹S>Vr h¡ Am¡a 15 ‘rQ>a MbVr h¡&
dh àma§{^H$ pñW{V go {H$g {Xem Am¡a {H$VZr Xÿar
na h¡?

(a) 45 ‘rQ>a n{ü‘

(b) 45 ‘rQ>a nyd©

(c) 30 ‘rQ>a nyd©

(d) 30 ‘rQ>a n{ü‘

41. Xmo g§»¶mAm| H$m bKwÎm‘ g‘mndË¶© 4147 h¡ Am¡a
CZH$m ‘hÎm‘ g‘mndV©H$ 13 h¡& ¶{X EH$ g§»¶m
319 h¡, Vmo Xÿgar g§»¶m _____ h¡&

(a) 165

(b) 162

(c) 168

(d) 169

42. Xmo g§»¶mE± 6 : 8 Ho$ AZwnmV ‘| h¢& ¶{X àË¶oH$ ‘|
go 10 KQ>m {X¶m OmE, Vmo ZB© g§»¶mE± 16 : 32
Ho$ AZwnmV ‘| hmoJr, Vmo N>moQ>r g§»¶m h¡&

(a) 38

(b) 16

(c) 12

(d) 15

40. Mahika walked 20 m towards
north. Then she turned right and
walks 30 m. Then she turns right
and walks 35 m. Then she turns
left and walks 15 m. Finally she
turns left and walks 15 m. In
which direction and how many
metres is she from the starting
position?

(a) 45 m West

(b) 45 m East

(c) 30 m East

(d) 30 m West

41. The L.C.M. of two numbers is
4147 and their H.C.F. is 13. If
one of the number is 319, then
the other number is

(a) 165

(b) 162

(c) 168

(d) 169

42. Two numbers are in the ratio of
6 : 8. If 10 is subtracted from
each, the new numbers are in
the ratio 16 : 32, then the smaller
number is

(a) 38

(b) 16

(c) 12

(d) 15
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43. There are 321200 people who
played tennis last year. This year
the number of players has
decreased by 6%. How many
people played tennis this year?
(a) 128480
(b) 308352
(c) 301928
(d) 340472

44. The price of bike was ` 34,000
last year. It has increased by 20%
this year. What is the price now?
(a) ` 40,800
(b) ` 37,400
(c) ` 20,400
(d) ` 36,800

45. The remainder, when (919 + 6) is
divided by 8, is

(a) 6

(b) 0

(c) 2

(d) 7

46. If the two digit of the age of
Samarth are reversed, then the
new age so obtained is the age of
his wife. 1/11 of the sum of their
ages is equal to the difference of
their ages. If Samarth is elder
than his wife, then the difference
between their ages is

(a) 11 years

(b) 9 years

(c) 27 years

(d) Cannot be determined

43. {nN>bo gmb 321200 bmoJm| Zo Q>o{Zg Iobm Wm&
Bg gmb {Ibm{‹S>¶m| H$s g§»¶m ‘| 6% H$s H$‘r
AmB© h¡& Bg df© {H$VZo bmoJm| Zo Q>o{Zg Iobm?
(a) 128480
(b) 308352
(c) 301928

(d) 340472

44. {nN>bo gmb ~mBH$ H$s H$s‘V ` 34,000 Wr&
Bg gmb Bg‘| 20% H$s d¥{Õ hþB© h¡& A~ H$s‘V
³¶m h¡?
(a) ` 40,800
(b) ` 37,400
(c) ` 20,400

(d) ` 36,800

45. O~ (919 + 6) H$mo 8 Ûmam {d^m{OV {H$¶m OmVm
h¡, Vmo eof h¡
(a) 6
(b) 0
(c) 2

(d) 7

46. ¶{X g‘W© H$s Am¶w Ho$ Xmo A§H$mo H$mo CëQ>m {H$¶m
OmVm h¡, Vmo Bg àH$ma àmá ZB© Am¶w CgH$s nËZr
H$s Am¶w h¡& CZH$s Am¶w Ho$ ¶moJ H$m 1/11 CZH$s
Am¶w Ho$ A§Va Ho$ ~am~a h¡& ¶{X g‘W© AnZr nËZr
go Am¶w ‘| ~‹S>m h¡, Vmo CZH$s Am¶w Ho$ ~rM H$m
A§Va h¡

(a) 11 df©

(b) 9 df©

(c) 27 df©

(d) {ZYm©[aV Zht {H$¶m Om gH$Vm
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47. An amount of ` 3,200 is divided
amongst three workers in the
ratio of 3/5 : 2 : 5/3. What will
be the share of second worker?

(a) ` 1,500

(b) ` 1,800

(c) ` 1,700

(d) ` 3,000

48. Find the area of a square inside
a circle of radius 4 cm.

(a) 32 sq. cm

(b) 18 sq. cm

(c) 64 sq. cm

(d) 25 sq. cm

49. The average of squares of first n
even natural numbers is

(a)  2( 1)n

(b)  22 ( 1)n n

(c)  2( 1)(2 1)
3

n n

(d)  ( 1)(2 1)
6

n n n

50. If 2 men or 4 women can reap a
field in 44 days, then how long
will 3 men and 5 women take to
reap 3/4th of the field?

(a) 8 days

(b) 16 days

(c) 10 days

(d) 12 days

47. ` 3,200 H$s am{e H$mo VrZ l{‘H$m| Ho$ ~rM
3/5 : 2 : 5/3 Ho$ AZwnmV ‘| ~m§Q>m J¶m h¡&
Xÿgao l{‘H$ H$m {hñgm ³¶m hmoJm?
(a) ` 1,500
(b) ` 1,800
(c) ` 1,700

(d) ` 3,000

48. 4 go‘r {ÌÁ¶m dmbo d¥Îm Ho$ A§Xa EH$ dJ© H$m
joÌ’$b kmV H$s{OE&

(a) 32 dJ© go‘r

(b) 18 dJ© go‘r

(c) 64 dJ© go‘r

(d) 25 dJ© go‘r

49. àW‘ n g‘ àmH¥${VH$ g§»¶mAm| Ho$ dJm] H$m Am¡gV
h¡

(a)  2( 1)n

(b)  22 ( 1)n n

(c)  2( 1)(2 1)
3

n n

(d)  ( 1)(2 1)
6

n n n

50. ¶{X 2 nwéf ¶m 4 ‘{hbmE± EH$ IoV H$mo 44 {XZm|
‘| H$mQ> gH$Vo h¢, Vmo 3 nwéf Am¡a 5 ‘{hbmE± IoV
H$m 3/4 ^mJ H$mQ>Zo ‘| {H$VZm g‘¶ b|Jo?

(a) 8 {XZ

(b) 16 {XZ

(c) 10 {XZ

(d) 12 {XZ
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51. Which of the following cash books
is similar to a cash account?

(a) Petty cash book

(b) Single column cash book

(c) Double column cash book

(d) Triple column cash book

52. A cash book that records minor
expenses of a business on day-
to-day basis is a

(a) general cash book

(b) petty cash book

(c) extra cash book

(d) None of the above

53. Ledger is a principal book that
contains

(a) all accounts

(b) real accounts only

(c) personal accounts only

(d) nominal accounts only

54. Among these, which item is used
as the base for preparing trial
balance?

(a) Cash Account

(b) Ledger Account

(c) Journal

(d) All of the above

51. {ZåZ{b{IV ‘| go H$m¡Z-gr H¡$e ~wH$ H¡$e ImVo Ho$
g‘mZ h¡?

(a) noQ>r H¡$e ~wH$

(b) qgJb H$m°b‘ H¡$e ~wH

(c) S>~b H$m°b‘ H¡$e ~wH$

(d) {Q́>nb H$m°b‘ H¡$e ~wH$

52. EH$ H¡$e ~wH$ Omo {XZ-à{V{XZ Ho$ AmYma na
{H$gr ì¶dgm¶ Ho$ N>moQ>o-‘moQ>o IMm] H$mo [aH$m°S>©
H$aVr h¡, dh h¡

(a) gm‘mÝ¶ H¡$e ~wH$

(b) noQ>r H¡$e ~wH$

(c) A{V[a³V H¡$e ~wH$

(d) Cnamoº$ ‘| go H$moB© Zht

53. ImVm ~hr EH$ ‘w»¶ nwñVH$ h¡ {Og‘| em{‘b h¢

(a) g^r boIm

(b) Ho$db dmñV{dH$ boIm

(c) Ho$db ì¶{º$JV boIm

(d) Ho$db Zm‘‘mÌ boIm

54. BZ‘| go H$m¡Z-gr ‘X Q́>mBb ~¡boÝg V¡¶ma H$aZo Ho$
{bE AmYma Ho$ ê$n ‘| Cn¶moJ H$s OmVr h¡?

(a) ZH$X ImVm

(b) boOa ImVm

(c) OZ©b

(d) Cnamoº$ g^r
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55. Trial balance is used to check
the accuracy of

(a) cash flow statement balance

(b) income statement balance

(c) ledger accounts balance

(d) None of the above

56. An audit which is compulsory by
law is called

(a) cost audit

(b) finance audit

(c) statutory audit

(d) internal audit

57. Standards of financial property
have been referred in GFR –
2017 under the Rule

(a) 21

(b) 22

(c) 23

(d) 24

58. The financial powers of the
Government which have not been
delegated to a subordinate
authority shall vest in the

(a) President

(b) Finance Ministry

(c) Parliament

(d) None of the above

55. Q́>mBb ~¡boÝg H$m Cn¶moJ _____ H$s gQ>rH$Vm H$s
Om§M H$aZo Ho$ {bE {H$¶m OmVm h¡&

(a) ZH$Xr àdmh {ddaU ~¡boÝg

(b) Am¶ {ddaU ~¡boÝg

(c) boOa ImVm| H$s ~¡boÝg

(d) Cnamoº$ ‘| go H$moB© Zht

56. {d{Y Ûmam A{Zdm¶© boImnarjm H$mo _____
boImnarjm H$hm OmVm h¡&

(a) bmJV

(b) {dÎm

(c) gm§{d{YH$

(d) Am§V[aH$

57. {dÎmr¶ g§n{Îm Ho$ ‘mZH$m| H$mo OroE’$oAmao – 2017
‘| {Z¶‘ _____ Ho$ A§VJ©V g§X{ ©̂V {H$¶m J¶m h¡&

(a) 21

(b) 22

(c) 23

(d) 24

58. gaH$ma H$s {dÎmr¶ e{º$¶m±, Omo {H$gr AYrZñW
àm{YH$aU H$mo Zht gm¢nr JB© h¢, _____ ‘| {Z{hV
hm|Jr&

(a) amîQ́>n{V

(b) {dÎm ‘§Ìmb¶

(c) g§gX

(d) Cnamoº$ ‘| go H$moB© Zht
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59. In which year Zero–Based–
Budgeting (ZBB) was
implemented in India as a
method for assessing Expenditure
Budget?

(a) 1984

(b) 1982

(c) 1983

(d) 1986

60. Building expenditure comes
under

(a) contingency expenditure

(b) recurring expenditure

(c) capital expenditure

(d) revenue expenditure

61. The Public Financial Management
System (PFMS) is a web-based
online software application
developed and implemented by
the

(a) Controller General of
Accounts(CGA)

(b) NITI Aayog

(c) Comptroller and Auditor
General of India (CAG)

(d) None of the above

62. The income of the Assessee is
classified under _____ number of
incomes for computation of
Income Tax Liabilities.

(a) 4

(b) 5

(c) 6

(d) 7

59. ^maV ‘| ì¶¶ ~OQ> Ho$ AmH$bZ H$s {d{Y Ho$ ê$n
‘| eyÝ¶-AmYm[aV-~OQ> (µOoS>o~ro~ro) H$mo {H$g
df© bmJy {H$¶m J¶m Wm?

(a) 1984

(b) 1982

(c) 1983

(d) 1986

60. ^dZ {Z‘m©U ì¶¶ _____ Ho$ A§VJ©V AmVm h¡&

(a) AmH$pñ‘H$ ì¶¶

(b) AmdVu ì¶¶

(c) ny§OrJV ì¶¶

(d) amOñd ì¶¶

61. gmd©O{ZH$ {dÎmr¶ à~§YZ àUmbr (nroE’$oE‘oEgo)
EH$ do~-AmYm[aV Am°ZbmBZ gm°âQ>do¶a EßbrHo$eZ
h¡ {Ogo _____ Ûmam {dH${gV Am¡a H$m¶m©pÝdV
{H$¶m J¶m h¡&

(a) boIm ‘hm{Z¶§ÌH$ (groOroEo)

(b) Zr{V Am¶moJ

(c) ^maV Ho$ {Z¶§ÌH$ Am¡a ‘hmboIm narjH$
(groEoOro)

(d) Cnamoº$ ‘| go H$moB© Zht

62. Am¶H$a Xo¶VmAm| H$s JUZm Ho$ {bE H$aXmVm H$s
Am¶ H$mo Am¶ H$s _____ g§»¶m Ho$ A§VJ©V dJuH¥$V
{H$¶m OmVm h¡&

(a) 4

(b) 5

(c) 6

(d) 7
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63. Income tax is collected on all type
of incomes, except

(a) agricultural income

(b) industrial income

(c) capital gain

(d) household property

64. The way of tax liability by taking
full advantages provided by
Income Tax Act is called

(a) tax management

(b) tax planning

(c) tax evasion

(d) tax avoidance

65. Pension is _____ under the salary
head.

(a) fully taxable

(b) partially taxable

(c) not taxable

(d) None of the above

66. The death-cum-retirement
gratuity received by Government
employee is

(a) fully exempted

(b) partially exempted

(c) 50% taxable

(d) None of the above

63. Am¶H$a g^r àH$ma H$s Am¶ na dgybm OmVm h¡
{gdm¶ _____ Ho$&

(a) H¥${f Am¶

(b) Am¡Úmo{JH$ Am¶

(c) ny§OrJV bm^

(d) Kaoby g§n{Îm

64. Am¶H$a A{Y{Z¶‘ Ûmam àXÎm nyU© bm^ CR>mH$a
H$a Xo¶Vm H$m VarH$m _____ H$hbmVm h¡&

(a) H$a à~§YZ

(b) H$a {Z¶moOZ

(c) H$a d§MZ

(d) H$a n[ahma

65. n|eZ doVZ ‘X Ho$ A§VJ©V _____ h¡&

(a) nyU©V… H$a ¶mo½¶

(b) Am§{eH$ ê$n go H$a ¶mo½¶

(c) H$a ¶mo½¶ Zht

(d) Cnamoº$ ‘| go H$moB© Zht

66. gaH$mar H$‘©Mmar Ûmam àmá ‘¥Ë¶w-gh-godm{Zd¥{Îm
J«oÀ¶wQ>r _____ h¡&

(a) nyU© Ny>Q> àmá

(b) Am§{eH$ Ny>Q> àmá

(c) 50% H$a ¶mo½¶

(d) Cnamoº$ ‘| go H$moB© Zht
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67. Deduction under Section 80-C to
80-U cannot exceed
(a) gross total income
(b) total income
(c) income from business

profession
(d) income from house property

68. In Tally, which shortcut key is
used to export data of any
company in Microsoft Excel
Spreadsheet or in any other
company?
(a) Alt + P
(b) Alt + E
(c) Alt + O
(d) Alt + S

69. When can a Government servant
exit from Tier-1 of the New
Pension Scheme?
(a) On or after the age of 55

years
(b) On or after the age of 58

years
(c) On or after the age of 60

years
(d) On or after the age of 62

years

70. What are the elements of salary
to be taken to determine the
contribution of Government
servant under Tier-1 of NPS?
(a) Basic pay
(b) Basic pay + Dearness

Allowance
(c) Basic pay + Dearness

Allowance + HRA
(d) None of the above

67. Ymam 80-gr go 80-¶y Ho$ A§VJ©V, H$Q>m¡Vr _____
go A{YH$ Zht hmo gH$Vr&

(a) gH$b Hw$b Am¶

(b) Hw$b Am¶

(c) ì¶dgm¶ noeo go Am¶

(d) J¥h g§n{Îm go Am¶

68. Q>obr ‘|, ‘mBH«$mogm°âQ> E³gob ñàoS>erQ> ¶m {H$gr
AÝ¶ H§$nZr ‘| {H$gr ̂ r H§$nZr Ho$ S>oQ>m H$mo {Z¶m©V
H$aZo Ho$ {bE {H$g em°Q>©H$Q> Hw§$Or H$m Cn¶moJ {H$¶m
OmVm h¡?

(a) Alt + P

(b) Alt + E

(c) Alt + O

(d) Alt + S

69. gaH$mar H$‘©Mmar ZB© n|eZ ¶moOZm Ho$ {Q>¶a-1 go
H$~ ~mha {ZH$b gH$Vm h¡?

(a) 55 df© H$s Am¶w na ¶m CgHo$ ~mX

(b) 58 df© H$s Am¶w na ¶m CgHo$ ~mX

(c) 60 df© H$s Am¶w na ¶m CgHo$ ~mX

(d) 62 df© H$s Am¶w na ¶m CgHo$ ~mX

70. EZonroEgo Ho$ {Q>¶a-1 Ho$ A§VJ©V, gaH$mar
H$‘©Mmar Ho$ A§eXmZ H$m {ZYm©aU H$aZo Ho$ {bE
doVZ Ho$ H$m¡Z-go VËd Ü¶mZ ‘| aIo OmZo Mm{hE?

(a) ‘yb doVZ

(b) ‘yb doVZ + ‘h§JmB© ^Îmm

(c) ‘yb doVZ + ‘h§JmB© ^Îmm + EMoAmaoEo

(d) Cnamoº$ ‘| go H$moB© Zht
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71. Who will allot a unique 16 digit
Permanent Pension Account
Number (PPAN) to the
employees?

(a) DDO

(b) PAO

(c) IRDA

(d) CPAO

72. From which date the revised rate
of NPS monthly contribution at
the rate of 14% by Central
Government came into effect?

(a) 01.01.2019

(b) 10.12.2018

(c) 01.04.2019

(d) 31.01.2019

73. _____% contribution shall be
made during suspension under
NPS.

(a) 10

(b) 50

(c) 60

(d) 0

74. What is the additional tax benefit
under Section 80CCD(1B) for
contribution to NPS from the FY
2015-16?

(a) 30000

(b) 25000

(c) 40000

(d) 50000

71. H$‘©Mm[a¶m| H$mo EH$ ¶y{ZH$ 16 A§H$m| H$m na‘mZ|Q>
[aQ>m¶a‘|Q> AH$mC§Q> (nronroEoEZo) H$m¡Z Amd§{Q>V
H$aoJm?

(a) S>roS>roAmoo

(b) nroEoAmoo

(c) AmB©oAmaoS>roE

(d) gronroEoAmoo

72. Ho$ÝÐ gaH$ma Ûmam 14% H$s Xa go NPS ‘m{gH$
A§eXmZ H$s g§emo{YV Xa {H$g {V{W go bmJy hþB©
Wr?

(a) 01.01.2019

(b) 10.12.2018

(c) 01.04.2019

(d) 31.01.2019

73. EZonroEgo Ho$ A§VJ©V {Zb§~Z Ho$ Xm¡amZ _____%
A§eXmZ {H$¶m OmEJm&

(a) 10

(b) 50

(c) 60

(d) 0

74. {dÎmr¶ df© 2015-16 go EZonroEgo ‘| ¶moJXmZ
Ho$ {bE Ymam 80CCD(1B) Ho$ A§VJ©V A{V[aº$
H$a bm^ ³¶m h¡?

(a) 30000

(b) 25000

(c) 40000

(d) 50000
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75. OroEgoQ>ro EH$ ì¶mnH$ H$a ì¶dñWm h¡, Omo _____
H$mo H$da H$aVr h¡&

(a) ‘mb

(b) godmAm|

(c) ‘mb Am¡a godmE± XmoZm|

(d) Cnamoº$ ‘| go H$moB© Zht

76. {ZåZ{b{IV ‘| go H$m¡Z Amny{V© Ho$ ‘yë¶ ‘| em{‘b
Zht hmoJm?

(a) OroEgoQ>ro

(b) ã¶mO

(c) {db§~ ewëH$

(d) H$‘reZ

77. OroEgoQ>ro A{Y{Z¶‘ H$s Ymam 15(1) Ho$ A§VJ©V
Amny{V© H$m ‘yë¶ _____ h¡&

(a) WmoH$ ‘yë¶

(b) ~mOma ‘yë¶

(c) A{YH$V‘ IwXam ‘yë¶

(d) boZXoZ ‘yë¶

78. H§$nmo{OeZ H$aXmVm H$mo ’$m°‘© g§»¶m _____ ‘|
[aQ>Z© Xm{Ib H$aZm Amdí¶H$ h¡&

(a) OroEgoQ>roAmao-2

(b) OroEgoQ>roAmao-3

(c) OroEgoQ>roAmao-4

(d) OroEgoQ>roAmao-5

75. GST is a comprehensive tax
regime covering

(a) goods

(b) services

(c) both goods and services

(d) None of the above

76. Which of the following shall not
be included in the value of
supply?

(a) GST

(b) Interest

(c) Late fee

(d) Commission

77. Value of supply under Section
15(1) of GST Act is

(a) wholesale price

(b) market value

(c) maximum retail price

(d) transaction value

78. Composition tax payer is required
to file return in Form No.

(a) GSTR-2

(b) GSTR-3

(c) GSTR-4

(d) GSTR-5
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79. {dÎmr¶ e{º$ àË¶m¶moOZ {Z¶‘ 2024, Ho$ {Z¶‘
8 Ho$ AZwgma, godm{Zd¥Îm gaH$mar H$‘©Mm[a¶m| H$mo
Aënmd{Y AZw~§Y Ho$ AmYma na H$m‘ na aIZo go
g§~§{YV ì¶¶ H$mo dñVw erf© _____ Ho$ A§VJ©V
dJuH¥$V {H$¶m OmEJm&

(a) ì¶mdgm{¶H$ godmE±

(b) H$m¶m©b¶ ì¶¶

(c) AÝ¶ amOñd ì¶¶

(d) doVZ

80. ‘m{bH$mZm dñVw à‘mUnÌ _____ ‘| bmJy hmoVm h¡&

(a) gr{‘V {Z{dXm nyN>VmN>

(b) {dkm{nV {Z{dXm nyN>VmN>

(c) EH$b {Z{dXm nyN>VmN>

(d) Xmo-~mobr {Z{dXm nyN>VmN>

81. {ZînmXZ gwajm gm‘mÝ¶V… AZw~§Y Ho$ ‘yë¶ Ho$
_____ Ho$ ~rM hmoZr Mm{hE&

(a) 2 go 5 %

(b) 3 go 5 %

(c) 5 go 10 %

(d) 10 go 15 %

82. {dÎmr¶ e{º$¶m| Ho$ àË¶m¶moOZ Ho$ {Z¶‘, g§{dYmZ
Ho$ {H$g AZwÀN>oX Ho$ A§VJ©V ~ZmE JE h¢?

(a) 78

(b) 79

(c) 80

(d) 77

79. In terms of Rule 8 of Delegation
of Financial Power Rules, 2024,
the expenditure relating to hiring
of retired Government servants
on short term contract basis shall
be classified under the object
head

(a) Professional Services

(b) Office Expenses

(c) Other Revenue Expenditure

(d) Salaries

80. Proprietary Article Certificate is
applicable in

(a) limited tender enquiry

(b) advertised tender enquiry

(c) single tender enquiry

(d) two-bid tender enquiry

81. Performance security should
ordinarily range between _____
of the value of the contract.

(a) 2 to 5 %

(b) 3 to 5 %

(c) 5 to 10 %

(d) 10 to 15 %

82. Delegation of Financial Power
Rules have been made under
which Article of constitution?

(a) 78

(b) 79

(c) 80

(d) 77
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83. Q́>oS>‘mH©$ na ì¶¶ H$mo _____ Ho$ A§VJ©V dJuH¥$V
{H$¶m OmZm h¡&

(a) pñWa n[ag§n{Îm¶m±

(b) A‘yV© n[ag§n{Îm¶m±

(c) {Zdoe

(d) dV©‘mZ n[ag§n{Îm¶m±

84. dh am{e Omo Aën Ad{Y Ho$ ̂ rVa Xo¶ hmoVr h¡ Cgo
_____ Ho$ ê$n ‘| OmZm OmVm h¡&

(a) dV©‘mZ Xo¶VmE§

(b) AmH$pñ‘H$ Xo¶VmE§

(c) [aOd© Ho$ VhV Xo¶VmE§

(d) Jma§Q>r

85. OroE’$oAmao 2017 Ho$ {Z¶‘ 237 Ho$ AZwgma,
ñdm¶Îm {ZH$m¶ Ûmam AZw‘mo{XV Am¡a à‘m{UV dm{f©H$
boIm g§~§{YV boIm narjm H$m¶m©b¶ H$mo _____
VH$ CnbãY H$am¶m OmZm Mm{hE&

(a) 30 {gV§~a

(b) 31 OwbmB©

(c) 30 OyZ

(d) 31 ‘B©

86. {ejm Q́>ñQ> ¶m gmogmB{Q>¶m| H$s {nN>bo {dÎmr¶ df© ‘|
CZH$s J{V{d{Y¶m| go àmá Am¶ H$m _____ Am¶H$a
A{Y{Z¶‘ H$s Ymam 11 Ho$ A§VJ©V Am¶H$a go ‘wº$
hmoJm&

(a) 20% VH$

(b) 25% VH$

(c) 30% VH$

(d) 15% VH$

83. Expenditure on trademarks are
to be classified under

(a) Fixed Assets

(b) Intangible Assets

(c) Investments

(d) Current Assets

84. Amount which are to be payable
within a short period are known
as

(a) Current Liabilities

(b) Contingent Liabilities

(c) Liabilities under Reserve

(d) Guarantees

85. In terms of Rule 237 of GFR
2017, the approved and
authenticated annual accounts to
be made available by the
Autonomous Body to the
concerned Audit Office by

(a) 30th September

(b) 31st July

(c) 30th June

(d) 31st May

86. _____ of the income of the
education trust or societies in the
previous financial year from their
activities shall be exempt from
income tax under Section 11 of
the Income Tax Act.

(a) Up to 20%

(b) Up to 25%

(c) Up to 30%

(d) Up to 15%
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87. In terms of Rule 225 of GFR,
2017, copies of all contracts and
agreements for purchases of the
value of _____ and above entered
into by civil departments of the
Government should be sent to
the Accounts Officer.

(a) ` 25 lakhs

(b) ` 20 lakhs

(c) ` 50 lakhs

(d) ` 1 crore

88. Receipts and Payments Account
is a summary of

(a) Balance Sheet as on date

(b) Debit & Credit balance of
Ledger Account

(c) Cash Receipts & Payment

(d) Income and Expenses

89. Balance of petty cash is regarded
as a/an

(a) expense payable

(b) income

(c) current liability

(d) asset

87. OroE’$oAmao, 2017 Ho$ {Z¶‘ 225 Ho$ AZwgma,
gaH$ma Ho$ {g{db {d^mJm| Ûmam _____ Am¡a Cggo
A{YH$ ‘yë¶ H$s IarX Ho$ {bE {H$E JE g^r
AZw~§Ym| Am¡a g‘Pm¡Vm| H$s à{V¶m§ boIm A{YH$mar
H$mo ôOr OmZr Mm{hE&

(a) ` 25 bmI

(b) ` 20 bmI

(c) ` 50 bmI

(d) ` 1 H$amo‹S>

88. àm{á Ed§ ŵJVmZ ImVm, _____ H$m gmam§e h¡&

(a) dV©‘mZ {V{W VH$ ~¡b|g erQ>

(b) boOa ImVo H$m S>o{~Q> Ed§ H«o${S>Q> ~¡b|g

(c) ZH$X àm{á¶m§ Ed§ ŵJVmZ

(d) Am¶ Ed§ ì¶¶

89. N>moQ>r ZH$Xr H$m eof ‘mZm OmVm h¡ EH$

(a) Xo¶ ì¶¶

(b) Am¶

(c) Mmby Xo¶Vm

(d) n[ag§n{Îm
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90. Subscription received in advance
by an education society is shown

(a) in the credit side of the
income and expenditure
account

(b) in the current asset side of
the Balance Sheet

(c) in the liabilities side of the
Balance Sheet

(d) None of the above

91. When the medical authority is
unable to specifically say that the
Government servant will never
again be fit for service, then
maximum leave which can be
sanctioned to him will be

(a) 18 months

(b) 12 months

(c) 06 months

(d) 24 months

92. The provision relating to suo moto
disclosure is contained in

(a) Section 4 of the RTI Act

(b) Section11 of the RTI Act

(c) Section 22 of the RTI Act

(d) Section 24 of the RTI Act

90. {H$gr {ejm gmogm¶Q>r go A{J«‘ ê$n go àmá A§eXmZ
H$mo _____ Xem©¶m OmVm h¡&

(a) Am¶ Am¡a ì¶¶ ImVo Ho$ Ho«${S>Q> nj ‘|

(b) ~¡b|g erQ> Ho$ Mmby n[ag§n{Îm nj ‘|

(c) ~¡b|g erQ> Ho$ Xo¶Vm nj ‘|

(d) Cnamoº$ ‘| go H$moB© Zht

91. O~ {M{H$Ëgm àm{YH$mar ñnîQ> ê$n go ¶h H$hZo ‘|
Ag‘W© hmo {H$ gaH$mar H$‘©Mmar H$^r ̂ r godm Ho$
{bE {’$Q> Zht hmoJm, Vmo Cgo ñdrH¥$V H$s Om gH$Zo
dmbr A{YH$V‘ N>wÅ>r _____ hmoJr&

(a) 18 ‘hrZo

(b) 12 ‘hrZo

(c) 06 ‘hrZo

(d) 24 ‘hrZo

92. ñdàoaUm àH$Q>rH$aU (suo moto) go g§~§{YV
àmdYmZ _____ ‘| {Z{hV h¡&

(a) AmaoQ>roAmB©o A{Y{Z¶‘ H$s Ymam 4

(b) AmaoQ>roAmB©o A{Y{Z¶‘ H$s Ymam 11

(c) AmaoQ>roAmB©o A{Y{Z¶‘ H$s Ymam 22

(d) AmaoQ>roAmB©o A{Y{Z¶‘ H$s Ymam 24
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93. Which GFR-2017 Form is used
for making utilization certificate
for Central Autonomous Bodies?

(a) Form 3A

(b) Form 11

(c) Form 12A

(d) Form 16A

94. Competent authority for approval
of cost estimates of up to ` 100
crores is

(a) Minister in charge of the
administrative ministry

(b) Secretary of the
Administrative Department in
consultation with Financial
Advisor

(c) Department of Expenditure

(d) Union Cabinet

95. In which of the following
expenditures, re-appropriation of
fund is permissible for the
Administrative Department?

(a) From revenue expenditure to
capital expenditure

(b) From and to the provisions
for deputation of scientists in
abroad

(c) From salary head to Grants-
in-aid (salaries)

(d) From Grants-in-aid (salaries)
to salaries

93. Ho$ÝÐr¶ ñdm¶Îm {ZH$m¶m| Ho$ {bE Cn¶mo{JVm à‘mU
nÌ ~ZmZo Ho$ {bE {H$g OroE’$oAmao-2017
’$m°‘© H$m Cn¶moJ {H$¶m OmVm h¡?

(a) ’$m°‘© 3A

(b) ’$m°‘© 11

(c) ’$m°‘© 12A

(d) ’$m°‘© 16A

94. ` 100 H$amo‹S> én¶o VH$ Ho$ bmJV AZw‘mZm| H$mo
ñdrH¥${V XoZo Ho$ {bE gj‘ àm{YH$mar _____ h¡&

(a) àemg{ZH$ ‘§Ìmb¶ H$m à^mar ‘§Ìr

(b) {dÎmr¶ gbmhH$ma Ho$ nam‘e© go àemg{ZH$
{d^mJ H$m g{Md

(c) ì¶¶ {d^mJ

(d) Ho$ÝÐr¶ ‘§{Ì‘§S>b

95. {ZåZ{b{IV ‘| go {H$g ì¶¶ ‘| àemg{ZH$ {d^mJ
Ho$ {bE {Z{Y H$m nwZ{d©{Z¶moOZ AZw‘o¶ h¡?

(a) amOñd ì¶¶ go ny§OrJV ì¶¶ VH$

(b) {dXoe ‘| d¡km{ZH$m| H$s à{V{Z¶w{º$ Ho$ {bE
àmdYmZm| go boH$a VH$

(c) doVZ erf© go AZwXmZ-ghm¶Vm (doVZ) VH$

(d) AZwXmZ-ghm¶Vm (doVZ) go doVZ VH$
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96. {ZåZ{b{IV ‘| go H$m¡Z-gm Ho$ÝÐr¶ gaH$mar H$‘©Mmar
Ho$ doVZ H$m {hñgm Zht ‘mZm OmVm h¡?

(a) dm¶abog Am°naoQ>am| H$mo {X¶m OmZo dmbm
dm¶abog àdrUVm doVZ

(b) {M{H$Ëgm nXm| Ho$ g§~§Y ‘| J¡a-Aä¶mg ̂ Îmm

(c) ‘h§JmB© ^Îmm

(d) {dXoer doVZ

97. {dXoe godm Ho$ Xm¡amZ, EH$ gaH$mar H$‘©Mmar _____
go doVZ àmá H$aVm h¡&

(a) ^maV H$s g‘o{H$V {Z{Y

(b) {H$gr amÁ¶ H$s g‘o{H$V {Z{Y

(c) g§K amÁ¶ joÌ H$s g‘o{H$V {Z{Y

(d) Cnamoº$ Ho$ Abmdm H$moB© AÝ¶ òmoV

98. {~Zm {’$Q>Zog ‘o{S>H$b g{Q>©{’$Ho$Q> Ho$ gaH$mar
H$‘©Mmar H$mo ZB© {Z¶w{º$ Ho$ g§~§Y ‘| doVZ Am¡a ̂ Îmo
{Z¶‘m| ‘| Ny>Q> Ho$ A§VJ©V A{YH$V‘ _____ Ad{Y
Ho$ {bE, {bE Om gH$Vo h¢&

(a) N>h ‘hrZo

(b) Mma ‘hrZo

(c) Xmo ‘hrZo

(d) AmR> ‘hrZo

96. Which of the following is not
considered the part of pay of a
Central Government servant?

(a) Wireless proficiency pays
grant to wireless operators

(b) Non-practicing allowance in
respect of medical posts

(c) Dearness Allowance

(d) Overseas Pay

97. During foreign service, a
Government servant draws salary
from

(a) Consolidated Fund of India

(b) Consolidated Fund of a State

(c) Consolidated Fund of UT

(d) Any source other than the
above

98. Pay and Allowances in respect of
fresh appointment of Government
servant without medical certificate
of fitness can be drawn in
relaxation of rules for a maximum
period of

(a) six months

(b) four months

(c) two months

(d) eight months
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99. What happens when the
competent authority does not
issue any order on the notice
tendered by a Government
servant under Rule 42/43 of the
CCS (Pension) Rules, 2021
seeking voluntary retirement
before the expiry of the period of
notice?

(a) Government servant giving
notice may presume
acceptance and retirement
will be effective in terms of
the notice

(b) Notice tendered by the
Government servant will lapse

(c) Order of the competent
authority is must for
voluntary retirement

(d) None of the above

100. Which of the following statements
relating to Leave Not Due (LND)
is correct?

(a) LND is a kind of leave in
which no salary is paid

(b) LND is granted only when a
Government Servant put in a
minimum of two year’s service

(c) LND is limited to 300 days in
entire service

(d) LND is to debited against
HPL to be earned in future

99. ³¶m hmoJm O~ gj‘ àm{YH$mar grogroEgo (n|eZ)
{Z¶‘, 2021 Ho$ {Z¶‘ 42/43 Ho$ VhV
ñd¡pÀN>H$ godm{Zd¥{Îm MmhZo dmbo gaH$mar H$‘©Mmar
Ûmam Zmo{Q>g H$s Ad{Y g‘má hmoZo go nhbo {XE
JE Zmo{Q>g na H$moB© AmXoe Omar Zht H$aVm h¡?

(a) Zmo{Q>g XoZo dmbm gaH$mar H$‘©Mmar ¶h ‘mZ
gH$Vm h¡ {H$ Zmo{Q>g Ho$ AZwgma ñdrH¥${V
Am¡a godm{Zd¥{Îm à^mdr hmoJr

(b) gaH$mar H$‘©Mmar Ûmam {X¶m J¶m Zmo{Q>g
g‘má hmo OmEJm

(c) ñd¡pÀN>H$ godm{Zd¥{Îm Ho$ {bE gj‘ àm{YH$mar
H$m AmXoe Amdí¶H$ h¡

(d) Cnamoº$ ‘| go H$moB© Zht

100. {ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ AXo¶ AdH$me/
AZ{O©V Nw>Å>r (EboEZoS>ro) Ho$ g§~§Y ‘| ghr h¡?

(a) EboEZoS>ro EH$ àH$ma H$m AdH$me h¡
{Og‘| H$moB© doVZ Zht {X¶m OmVm h¡

(b) EboEZoS>ro Ho$db V^r Xr OmVr h¡ O~
H$moB© gaH$mar H$‘©Mmar Ý¶yZV‘ Xmo df© H$s
godm H$aVm h¡

(c) EboEZoS>ro nyar godm ‘| 300 {XZm| VH$
gr{‘V h¡

(d) EboEZoS>ro H$mo ̂ {dî¶ ‘| A{O©V H$s OmZo
dmbr EMonroEbo Ho$ gmnoj S>o{~Q> {H$¶m
OmVm h¡
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE



ACT/28-A ( 31 ) [ P.T.O.

SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK
aµ’$ H$m¶© Ho$ {bE


